Bid #853-11508 - Lot Clearing Sevices

Creation Date Nov 14, 2014 End Date Dec 12, 2014 2:00:00 PM EST

Start Date Nov 19, 2014 4:33:26 PM EST Awarded Date Not Yet Awarded

853-1150801- 01 Mowing Service					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Sga Management	First Offer - \$0.01	2625000 / square foot	\$26,250.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
P.C.S Group [Ad]	First Offer - \$0.012	2625000 / square foot	\$31,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Crodon Inc [Ad]	First Offer - \$0.015	2625000 / square foot	\$39,375.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
MCT Service, LLC	First Offer - \$0.0179	2625000 / square foot	\$46,987.50		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Monroe Lawn Care Service	First Offer - \$0.02	2625000 / square foot	\$52,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
Evergreen Cleaning Service	First Offer - \$0.02	2625000 / square foot	\$52,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
CREATIVE LAWN MAINTENANCE, LLC	First Offer - \$0.02	2625000 / square foot	\$52,500.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
McI ntyre Maintenance Inc	First Offer - \$0.068	2625000 / square foot	\$178,500.00		Υ
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			

853-1150801- 02 Debris Removal 9	Services				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Sga Management	First Offer - \$6.15	1750 / cubic yard	\$10,762.50		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Monroe Lawn Care Service	First Offer - \$12.00	1750 / cubic yard	\$21,000.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Crodon Inc [Ad]	First Offer - \$15.00	1750 / cubic yard	\$26,250.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
CREATIVE LAWN MAINTENANCE, LLC	First Offer - \$15.00	1750 / cubic yard	\$26,250.00	Υ	Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
MCT Service, LLC	First Offer - \$18.55	1750 / cubic yard	\$32,462.50		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
P.C.S Group [Ad]	First Offer - \$33.00	1750 / cubic yard	\$57,750.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
Evergreen Cleaning Service	First Offer - \$35.00	1750 / cubic yard	\$61,250.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		
McI ntyre Maintenance Inc	First Offer - \$37.00	1750 / cubic yard	\$64,750.00		Υ
Product Code: Agency Notes:		Supplier Product (Supplier Notes:	Code:		

853-1150801- 03	Pool Treatment Sevices
------------------------	------------------------

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Monroe Lawn Care Service	First Offer - \$32.00	75 / each	\$2,400.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
P.C.S Group [Ad]	First Offer - \$40.00	75 / each	\$3,000.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Crodon Inc [Ad]	First Offer - \$49.00	75 / each	\$3,675.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Sga Management	First Offer - \$70.00	75 / each	\$5,250.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
CREATIVE LAWN MAINTENANCE, LLC	First Offer - \$125.00	75 / each	\$9,375.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
MCT Service, LLC	First Offer - \$225.00	75 / each	\$16,875.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Evergreen Cleaning Service	First Offer - \$300.00	75 / each	\$22,500.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
McI ntyre Maintenance Inc	First Offer - \$800.00	75 / each	\$60,000.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		

853-1150801- 04 Tire, Paint, Batte	ries, Hazardous Was	te Removal Sevic	es		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Monroe Lawn Care Service	First Offer - \$5.00	75 / each	\$375.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Sga Management	First Offer - \$10.00	75 / each	\$750.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
P.C.S Group [Ad]	First Offer - \$58.00	75 / each	\$4,350.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes: To big tires: \$10 batteries: \$10 paint: \$10 hazardous: \$20			
CREATIVE LAWN MAINTENANCE, LLC	First Offer - \$100.00	75 / each	\$7,500.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Evergreen Cleaning Service	First Offer - \$125.00	75 / each	\$9,375.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
McI ntyre Maintenance Inc	First Offer - \$160.00	75 / each	\$12,000.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
MCT Service, LLC	First Offer - \$188.00	75 / each	\$14,100.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Crodon Inc [Ad]	First Offer - \$291.00	75 / each	\$21,825.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		

853-1150801- 05 Emergency / Se	rvices Same Day				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
CREATIVE LAWN MAINTENANCE, LLC	First Offer - \$75.00	15 / each	\$1,125.00		Υ
Product Code:		Supplier Product	Code:		

Bid #853-11508 - Lot Clearing Sevices Line Item

Agency Notes:		Supplier Notes:		
P.C.S Group [Ad]	First Offer - \$125.00	15 / each	\$1,875.00	Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	·
Sga Management	First Offer - \$150.00	15 / each	\$2,250.00	Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	·
Monroe Lawn Care Service	First Offer - \$150.00	15 / each	\$2,250.00	Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	·
Evergreen Cleaning Service	First Offer - \$150.00	15 / each	\$2,250.00	Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	: Code:	
MCT Service, LLC	First Offer - \$159.99	15 / each	\$2,399.85	Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
Crodon Inc [Ad]	First Offer - \$700.00	15 / each	\$10,500.00	Y
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	
McI ntyre Maintenance Inc	First Offer - \$1,000.00	15 / each	\$15,000.00	Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:	

853-1150801- 06 Next Day Servic	e				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
CREATIVE LAWN MAINTENANCE, LLC	First Offer - \$50.00	15 / each	\$750.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
P.C.S Group [Ad]	First Offer - \$75.00	15 / each	\$1,125.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Monroe Lawn Care Service	First Offer - \$80.00	15 / each	\$1,200.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Evergreen Cleaning Service	First Offer - \$90.00	15 / each	\$1,350.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Sga Management	First Offer - \$100.00	15 / each	\$1,500.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
MCT Service, LLC	First Offer - \$159.99	15 / each	\$2,399.85		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
Crodon Inc [Ad]	First Offer - \$350.00	15 / each	\$5,250.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		
McI ntyre Maintenance Inc	First Offer - \$800.00	15 / each	\$12,000.00		Υ
Product Code: Agency Notes:		Supplier Product Supplier Notes:	Code:		

Supplier Totals

Sga Management	\$46,762.50	(6/6 items)
Bid Contact ELVIS SICARD sgamanagement@govsalesteam.co Ph 786-395- 4281	Address 13501 SW 128 Street om Unit 114c Miami, FL 33185	
Agency Notes:	Supplier Notes:	
Monroe Lawn Care Service	\$79,725.00	(6/6 items)
Bid Contact Jason Ashley JaysonA22@hotmail.com Ph 954-629- 7481	Address P.O. Box 695408 Miami, FL 33269	

	S:	Supplier	Notes:	
CKEAIIVE	AWN MAINTENANCE, LLC		\$97,500.00	(6/6 items)
Bid Contact	David E Brown Jr. clm.greenergrass@gmail.com Ph 954-868- 8001	Address	2900 N.W. 6th Ct. Pompano Beach, FL 33069	(c, c same,
Qualifications	DBE MBE SB			
Agency Notes	s:	Supplie	r Notes:	
P.C.S Group	[Ad]		\$99,600.00	(6/6 items)
Bid Contact	Berry st.vil paintcityservice@gmail.com Ph 786-247- 5799	Address	1270 NE 155th st Miami, FL 33162	
Qualifications	MBE SB			
Agency Notes	s:	Supplie	r Notes:	
Crodon Inc	[Ad]		\$106,875.00	(6/6 items)
Bid Contact	Mark Donnelly cmd590@comcast.net Ph 305-794- 7499	Address	11767 S Dixie Hwy Miami, FL 33156	
Qualifications	SB			
	Removal of dense overgrowth/underbrus Trimming of tree canopy up to 10 feet (so Palm tree trimming and pruning (10-25ft Palm tree trimming and pruning (25-40ft Leveling off of fill or similar material (cu.	i.ft.) \$0.15 tall) \$25.0 tall) \$60.0	50 000 000	
Agency Notes	S:		r Notes: utting back and/or trimming (cu.yd.	١ ٨٥ ٥٥٥
		Trimming Palm tree Palm tree	of dense overgrowth/underbrush (g of tree canopy up to 10 feet (sq.ft e trimming and pruning (10-25ft tal e trimming and pruning (25-40ft tal off of fill or similar material (cu.yd.	(sq.ft.) \$0.150 (i.) \$0.150 (ii) \$25.000 (ii) \$60.000
MCT Service	e, LLC	Trimming Palm tree Palm tree	g of tree canopy up to 10 feet (sq.ft e trimming and pruning (10-25ft tal e trimming and pruning (25-40ft tal	(sq.ft.) \$0.150 (s) \$0.150 (l) \$25.000 (l) \$60.000 (s) \$20.000
Bid Contact T	e, LLC Fammy Buffington nctservice@hotmail.com Ph 305-922- 6844	Trimming Palm tree Palm tree Leveling	g of tree canopy up to 10 feet (sq.ft e trimming and pruning (10-25ft tal e trimming and pruning (25-40ft tal off of fill or similar material (cu.yd.	(sq.ft.) \$0.150 (s) \$0.150 (l) \$25.000 (l) \$60.000 (s) \$20.000
Bid Contact T	Tammy Buffington nctservice@hotmail.com Ph 305-922- 6844	Trimming Palm tree Palm tree Leveling	g of tree canopy up to 10 feet (sq.ft e trimming and pruning (10-25ft tal e trimming and pruning (25-40ft tal off of fill or similar material (cu.yd. \$115,224.70 3607 Charles Ave Miami, FL 33133	(sq.ft.) \$0.150 (s) \$0.150 (l) \$25.000 (l) \$60.000 (s) \$20.000
Bid Contact T n F Agency Notes	Tammy Buffington nctservice@hotmail.com Ph 305-922- 6844	Trimming Palm tree Palm tree Leveling Address	g of tree canopy up to 10 feet (sq.ft e trimming and pruning (10-25ft tal e trimming and pruning (25-40ft tal off of fill or similar material (cu.yd. \$115,224.70 3607 Charles Ave Miami, FL 33133	(sq.ft.) \$0.150 i.) \$0.150 ii) \$25.000 ii) \$60.000) \$20.000 (6/6 items)
Bid Contact T n F Agency Notes	Fammy Buffington nctservice@hotmail.com Ph 305-922- 6844 s:	Trimming Palm tree Palm tree Leveling Address	g of tree canopy up to 10 feet (sq.fte trimming and pruning (10-25ft tale trimming and pruning (25-40ft tale off of fill or similar material (cu.yd. \$115,224.70 3607 Charles Ave Miami, FL 33133 Notes:	(sq.ft.) \$0.150 (s) \$0.150 (l) \$25.000 (l) \$60.000 (s) \$20.000
Bid Contact T n F Agency Notes Evergreen (Fammy Buffington mctservice@hotmail.com Ph 305-922-6844 s: Cleaning Service Octavia Mills evergreencleaningservice@hotmail.com Ph 954-559-6385	Trimming Palm tree Palm tree Leveling Address	g of tree canopy up to 10 feet (sq.ft e trimming and pruning (10-25ft tal e trimming and pruning (25-40ft tal off of fill or similar material (cu.yd. \$115,224.70 3607 Charles Ave Miami, FL 33133 Notes: \$149,225.00 Address 5430 Flagler Street	(sq.ft.) \$0.150 i.) \$0.150 ii) \$25.000 ii) \$60.000) \$20.000 (6/6 items)
Bid Contact T n P Agency Notes Evergreen C Bid Contact	Tammy Buffington mctservice@hotmail.com Ph 305-922-6844 S: Cleaning Service Octavia Mills evergreencleaningservice@hotmail.com Ph 954-559-6385 MBE SB	Trimming Palm tree Palm tree Leveling Address	g of tree canopy up to 10 feet (sq.ft e trimming and pruning (10-25ft tal e trimming and pruning (25-40ft tal off of fill or similar material (cu.yd. \$115,224.70 3607 Charles Ave Miami, FL 33133 Notes: \$149,225.00 Address 5430 Flagler Street	(sq.ft.) \$0.150 i.) \$0.150 ii) \$25.000 ii) \$60.000) \$20.000 (6/6 items)
Bid Contact T n F Agency Notes Evergreen (Bid Contact Qualifications Agency Notes	Tammy Buffington mctservice@hotmail.com Ph 305-922-6844 S: Cleaning Service Octavia Mills evergreencleaningservice@hotmail.com Ph 954-559-6385 MBE SB	Trimming Palm tree Palm tree Leveling Address	g of tree canopy up to 10 feet (sq.ft e trimming and pruning (10-25ft tal e trimming and pruning (25-40ft tal off of fill or similar material (cu.yd. \$115,224.70 3607 Charles Ave Miami, FL 33133 Notes: \$149,225.00 Address 5430 Flagler Street Hollywood, FL 33021	(sq.ft.) \$0.150 (sq.ft.) \$0.150 (sq.ft.) \$25.000 (sq.ft.) \$60.000 (sq.ft.) \$60.000 (6/6 items) (6/6 items)
Agency Notes Evergreen (Bid Contact Qualifications Agency Notes McI ntyre M Bid Contact V Co	Tammy Buffington mctservice@hotmail.com Ph 305-922-6844 S: Cleaning Service Octavia Mills evergreencleaningservice@hotmail.com Ph 954-559-6385 MBE SB S:	Trimming Palm tree Palm tree Leveling Address Supplier	g of tree canopy up to 10 feet (sq.ft e trimming and pruning (10-25ft tal e trimming and pruning (25-40ft tal off of fill or similar material (cu.yd. \$115,224.70 3607 Charles Ave Miami, FL 33133 Notes: \$149,225.00 Address 5430 Flagler Street Hollywood, FL 33021 Supplier Notes:	(sq.ft.) \$0.150 i.) \$0.150 ii) \$25.000 ii) \$60.000) \$20.000 (6/6 items)

^{**}All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.